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COMMERCE

(Honours Generic)

Answer the Questions from any one Option.
Full Marks : 80
Time . Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
Option—-A
MICROECONOMICS
(Honours Generic)

Paper : COM-HG-1016

1. (A) Answer the following questions : .
(any five) 1x5=5
e Tl Tel il ¢ (Reet 5519

(i) Define monopolistic competition.

iz alferaierel ISR AR 2|

(i) Define cost function.

a3 g el |

Contd.



(B) Choose the correct answer : (any five)
1x5=5

P e S wwzrﬁ%%%w (R st

(i) What do you mean by budget line ?

() In monopolistic competition____
products are sold.

IR fowitroTET TS

(iv) Define social cost.

AE 3 FALERl &<l | | TR R 2
(vJ What is isoqﬁqant? _ : (s BeleEEE ol
|
! A
- (SEINEN? |
R | (b) Differentiated
(vi) What is substitution effect ? | 4 Rlein
Rees, 2ol 15 2 il (@Bt
(vii) What is collusive oligopoly ? | (d) None of the above
cmﬁwﬁwmﬂﬁ%ﬁaw ST <Ble T2y
& o | (@) If good y is interior good the shape |
‘ - of income consumption curve will
(vii) What do you mean by income be_ :
effect ? Y I PR w3 =, |WR T Tegein
. @@l iphes 21|
AW ®fq T @l 2 _ : | : (@) upward slopping
- (g Give an example of opportunity | | W‘{@ A
cost. , | "(b) downward slopping
| IBEERl
el TR 5T T o | . | i |
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(c) backward slopping

foresl e
(d) None of the above

G559 BI8 T
(i) AR curve is known as
5% A (AR) FRCIET Gl I
(a) profit curve
&S ql Jll=el (S0

(b) demand curve or price curve

pifen 91 I 79 @1

(c) AC curve
5@ T (AC) S
(d) None of the above
87TS YBI8 T

(iv) The substitution effect can be
measured holding |

Ao 2ol OeTd (PO 4F (S = 2

(a) income as constant

%9 =

(b) utility as constant

%9 Tl
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(c) price of one good as constant
@Bl TS w9 29
. {d) price of all goods as constant

e TS VS 29

(v) A firm will be at equilibrium
regarding use of a factor
combination, when marginal rate
of technical substitution (MRTS)
between factors is to the
ratio of factor prices.

TolmA rEEs fofes 9 efswing
oA 28 C?i’l%iﬂ AT ﬂsli%?ﬁg[

A I A ST A |
(a) less than
i )
(b) more than
61E3
(c) equal
Gl
(d) independent
BRlkdics
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|
(vz} Oligopolistic industries are - )
characterized by |

perfect competition

ERa LIS RIRS)

(a) a few dominant firms and (c) monopoly market

substantial barriers to entry : ' GEITIOR IS B

@A ATRHIN AV o

AEESHD A4 AT (d) None of the above

G99 DI R
(b) one dominant firm and less '
entry barriers '

G AT AT SIS 3 2l
DIES

(c) few .firms with no barriers

(viii) Price diserimination will be

“profitable only when the

monopolist finds that the price

[ elasticity of demand for his

- product is different in different

@ AV WIS @I il 1™ markets. (True/ False)

CIE ] GO AP TS A T Re el

' . | | SIS 2 (o3 bl v Rfogiskme!

(d) None of the above . | | (©¢3 71 o [fen Toe ey =)
@75 Bl F | | (o%/50m)

(vii) The concept of group equilibrium . (ix) A firm’s shut down point is
is applicable to ° ' , reached when its AR fails to cover
RS SIS Q! ey = AVC. ~ (True/False)

sfo @i T /Yo Toiie o @feom
9 910 e S ARSI 3 AR

4 R

(a) monopolistic competition

GHIEFI ﬁ%mﬁ@
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Answer the following questions : (any five)

2x5=10

ooTe AT Tes Bkl ¢ (Rl A5o19)

(a) Define cross elasticity of demand. What

(b)

" (¢

(d)

is the nature of cross elasticity for
complementary goods ?

wﬁmafﬁﬁﬁﬁfﬁawaﬁaﬂ@mﬁ%m:ﬂﬁﬁ@@
TR (a9 O (ZOZI5Fol eFo (@FrdEea

_—
Mention the properties of isoquant
curve.

HIGeoAT (U9 ERFEPTR Tl 41 |
What is inferior goods? Give an
example.

B w2 51 el
Distinguish between money cost and
real cost.

CNES T % epo JRE Ay &7l
Mention the fwo conditions of firm’s
equilibrium.

ﬁnﬁmﬁefﬁhaemwa—ﬁwmmas“ﬁﬁ@mﬁﬂaﬁﬂ

What are the two factors affecting
income elasticity of demand ?

gﬁlﬁﬁ@Tﬁﬁ?@ﬁﬁﬁYﬁ¢ﬁﬁﬁfﬁ?ﬁ?ﬂWﬂT$
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(9) Mention the two characteristics of
duopoly market.

R IS99 757 (A% B 1 |

(h) Mention the necessary conditions of
consumer equilibrium.

TATSIS SIS 13‘\'31\9[121?‘1\ I SOEN S
<91 |

(i) Distinguish between . fixed cost and
variable cost.

| T?QQFIEW$9ﬁ§FﬂﬁFT@ﬂ€9W$ﬂ1%ﬁﬂ
() Define economic region of production.

e oS (Fag kel 9 |

3. Answer any four questions of the following :

_ 5x4=20
weTe WAIRIET iz 519619 bed 7 s

(a) Explain different types of price elasticity
of demand.

W'Wﬁi@mﬁﬁ%ﬂmm@
39 | :

(b) Distinguish between economies and
diseconomies of scale.

Teoive SdtafeF A6 o oS s
Tere Al |

4 (Sem-~1/CBCS) MICE/ISM/G 9 Contd.



(c) » State the relationship between average |- (h) Explain the concept of kinked demand

cost (AC) and marginal cost (MC) curve. i

51T O 2l TH @A TS F2F (| ol SR S 4! 2o
(gaite eho et ' 4. ~ Answer the following questions : (any four)

5y (Brt forel & - | 10x4=40

(i) Marginal Rate of Technical ;: w5 TRiERe Tes Wl ¢ (Rl bIe619)

SubstiaouH(MRTS) (@) Define Engel curve. Explain the

TG Pl elfoTsR 29 ! derivation of Engel curve from income
(i) Expansion path consumption curve for normal good.
2+8=10
CEISIOE RIS _
- e , | - qrEE (@A AeEE ol e T
(e) Distinguish between Walrasian and A ool (A RS e RO (G

W

Marshallian stability analysis. .
5 e o ?
STz SIS T FZel Resses e #A1d<y £

(el | (b) What is price consumption curve?
A : : Explain the shape of price consumption

() Discuss the concept of industry’s long- 3 | curve (PCC) if good x is Giffen good.
‘run supply curve under perfect ; ‘ 2+8=10
competition market. - : A _ 7 BTl @@l & 2 P BE TS Sore

(I @IS LREC! SIEv= 51|
(c) Show the welfare effect of cash subsidy

(@ Mention the assumptions of | and kind subsidy with the help of
monopolistic market competition. | indifference curve analysis.
GRfER aferaifrel qeee SfRaEeETR Y o SIS AR SN T AR G &S

| - | Fraror (@49 R 7T SIeEnal 34|
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(c) - State the relationship between average (h) Explain the concept of kinked demand

cost (AC) and marginal cost (MC) curve. ;“ e
%%W@WWW@@N T
O e O i 4. ~ Answer the following questions : (any four)
DY (B ferall ¢ A | 10x4=40
(i) Marginal Rate of Technical | weTe MaEEd ©es Wl ¢ (Rt 519619)

S (@) Definer Engel curve. Explain the

B FIESI elfommmy 29 derivation of Engel curve from income
i - th consumption curve for normal good.
(1) Expans:;?{za SRS
AN 9o
) D e Lo i - qUEE ([FF A Gl e @99 o
(e istinguis etween Walrasian an : :
Marshallian stability analysis. i : TP (U IO G (IO (FACT

. oE 9 2
TR SIS AT Fqe! R e A4 Bt

et | (b) What is price consumption curve ?
_ ; : Explain the shape of price consumption
() Discuss the concept of industry’s long- 3 curve (PCC) if good x is Giffen good.
run supply curve under perfect | j ‘ 2+8=10
competition market.. : - | . e T B e e
ool AfSTAIfTONERe ICITT Criar WI-leTi l. IR SIS <1t < |

(I (RIS 4! SCioa! | -
" (¢) Show the welfare effect of cash subsidy

(99 Mention the assumptions of | and kind subsidy with the help of
monopolistic market competition. | indifference curve analysis.
IR eferaiet IaE SRqRIFRTET | oI TS AT W= T AL CHITTS el

4 | - T @A REE6S 7230 ScEn) 39
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(d) Explain the revealed prefereﬁce theory (h) What is price discrimination ?* Explain
and make a comparative analysis with the degrees of price discrimination
R S : ; under monopoly market.
ordinal utility analysis by Hicks and
Allen. | 6+4=10 e Rrond e 2GRl IS TS
ToEPre 2R SaifERE Oge! T | Rreniesed [ifes MaPRERS Tipt SRl |
IPE RS ROGDERCRARI A ToifoR @i @2 i) What do you mean by producer’s
OGT WeIET SCEDAl SHaRCeH | equilibrium ? Explain producer’s
: equilibrium with the help of isoquant
(e) Define price elasticity of demand. curve and isocost line. 4+6=10
Discuss various factors affecting price Ao Sl SID SRl I e 2
elasticity of demand. 2+8=10 T SIS SR TN-G A S I
7 Bif2nl RPN vikE 7l | 21 eoifee SENGEEERECRINIRE
3 fRfor ST SCbel | () Discuss different methods of measuring
‘ I q < ' Kelb - price elasticity of demand.
Criti explai tackelberg d
0 rldlcla e A enoly < bifznl Bfozieeer sl = R AaorR
model. ,
SED= <B4l
- (BaeEIeT TR TGRS ANCECTS 101 |
40|
(g9 What is moﬁopoly ? Discuss how price
output is determined under monopoly.
2+8=10
GO e G 5 ¢ G TGS 7 Ol Gl
@ e 28 SIEnl 54|
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Option-B
INVESTING IN STOCK MARKET

(Honours Generic)

Paper : COM-HG-1026

1. Answer any ten of the following questions
as directed : . 1x10=10

wee Wl MRS R 7219 bes forl ¢

(a) Which of the following is the most
suitable option for an investor with low
risk appetite ?

(i) Bond (ii) Equity
(i) Fixed Deposit (iv) Derivative
~ (Choose the correct alternative)

i Remicie 22 T4 RNEHE] 769 AW
Salcan @R IERACKCE
(i) % (i) I (320)
(i) B S (iv) ©&© {2
(&% [Fses) Az Tlrear)
(b) NSE was incorporated in the year
() 1992 (i) 1994
(iii) 1995 - (iv) 1996

(Choose the correct alternative)
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@

(d)

(e)

4 (Sem-1/CBCS) MICE/ISM/G 15

NSE (i 5% st cafest 2

i) S553 o (ii) 5558 HI®
(iii) Sooe HY® (iv) Sod%ByS
(&7 [Fo800) FIR fed)

“The basic objective of investor is to

minimize the risk and maximize the

return on investment.” (Write whether

the statement is True or False)

TR Remicr @ A = orow I
e AR 5 o |

(4R SI&TB! 351 (a7 faisy fa))

Investments in securities issued by

government have no risk. (Write whether
the statement is True or False)

b fifer w91 efoefs Yqo w1 fRse
fRemist 1 AT |

(93 Tfehl s @ f 1<)
Write the full form of CRISIL.
CRISIL I ¢ 9{t51 721 |

Badla trading was banned by SEBI with
the introduction of

(i) futures trading

(i) stock trading

(i) cash trading

(tv) goods trading ;
(Choose the correct alternative)

Contqd.



SEBI @ eT¥ (LG ANl (e et 513 quwmwﬁa%ﬁ@w

a3 2 - S .
_ . AT TR UK <5 q |
() SRS TP % ; - : (ﬁ?%ﬁﬁf@ﬁﬁﬁ?fi)
(i) %W | | (i) Valuation of risks means quantification
(i) <5 <G ' or measurement of risk in monetary
) e o : terms. : (Write whether
: (e Bl 91 Bea) : the statement is True or False)
: | | RemMIsHa SR 1T i
(g) In India, mutual fund scheme was first X > R :
started in A T ls_ g
R o3 i A ; (42 TfeCB! 251 ¢ 1861 fo730)
() (W) (k) Internet-based trading services to
(i) 1992 (iv) None of the above b ‘ investors started in India from
(Choose the correct alternative) o\ () 27th January, 2000
Slow A2 Trzo Rl 4G St wws et l (i) 16th August, 2001
(i)  S5Y8 HI© (ii) S5k bIS (i) Sth April, 2002
(iii) S35 bI9 : (iv) S7FE Gbie 72T l (iv) 3rd7November, 1994 :
’ 3}7% o ) 1 (Choose the correct alternative)
| OISR TORED e TPIRT GRl SRS
(h) Who is the regulatory authority of | =

. 'l) ! .
Indian Stock Market * ) :\ () 29 GREFIST, Y000
OlgeR Sig¥ IGINq APt SR @ 2 ,i :
| ‘i (i) SV TP, 200
(i) In case of iceberg orders total number | G
of orders placed in the trading system i! g R %

is not disclosed. (Write whether | : (iv) © TEIF, 5558
the statement is True or False) |; (v Resol IR s
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SEBI « 951 (PGS SR (0@ qvett <o | w5l PRI RS, IRATR Eee <

iRz S 2 .
_ ; | o TG TR 2 9 72 |
{z) ORI TP i 2 (42 o) 757 (o 351 fa7311)
(i1) %W | () Valuation of risks means quantification
(i) T AR ; or measurement of risk in monetary
B . terms. : (Write whether
(iv) W T i o | . g h the statement g True or 'Fal_se)
(g) In India, mutual fund scheme was first ' o \W ‘ | | S
started in s c
- 4 ‘ - (4 TfECo1 751 ¢ 357 fersi)
() 1964 (@) 1987 1 (k) Internet-based trading services to
(i) 1992 (iv) None of the above f . _investors started in India from
(Choose the correct alternative] o\ () 27th January, 2000
SEve 22N Srze il Sfe SivH wime e , (i) 16th August, 2001
() S5Y8 57O (i) S5¥4 bTE s 7 (iii) Sth April, 2002
(i) S>3 HTS (i) SR @Hle 7 | fiv) Srd November, 1994 .
B 377@ S ~ (Choose the correct alternative)
&5 \33 2 ¢
( ) | CRO® TORGD fSfed TRT CRl NS
(h) Who is the regulatory authority of | el

Indian Stock Market ?

| () 29 AN, 000
0% o ' |
CleR Sik¥ GRS HAFeISt SRS @ 2 !:‘ (i) S SIviE, 3005

(iii) € «fEe, Y00

(i) In case of iceberg orders total number
of orders placed in the trading system : :
is not disclosed. (Write whether | : (iv) © &I, 5558

] |

|

the statement is True or False) !' (v Remcol R Slereay)
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(@) There is daily settlement of stock option
contracts. (Write whether
the statement is True or False)

B 97ibA pie eeife eifofie w1 =31
(42 SfCo! 751 ¢ 51 for<h)

() Commodity derivatives are used only
- for hedging. (Write whether

the.statement is True or False)

3 Ogb A8 (9 (2T A 99 = |
(492 ©fes! 51 o 51 f7730)

2. Answer any five of the following questions in
about 50 words each : - 2x5=10

mﬁz@mmmﬁwmeoﬁmm
fowge Teq 34 2

(@) Mention two advantages of investment
in bond.

qe® RFEIRR 70/ 7R Tz <4 |

(b) What is meant by ‘Corporate Annual
Report’?

‘awfcaﬁag@aﬁtﬁ’iﬁm%gmé

(c) Give the significance of NAV in mutual
fund scheme.

ﬁw@wi@mvﬁ@ NAV I @39 &)l
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(d) Explain the meaning of options in
derivative market.

TES A1 ISR P W i1

(e) Mention two features of investment.
R 751 e B

() What is meant by ‘stock market order’ ?
T Ao oo I [ @ 2

(g9 Give the meaning of the term
‘derivative’.

TEb w129 ke | |
(h) Write two functions of stock exchange.
. R um 7o e B
(i) Define Mutual Fund.

ool s e

() Give the meaning of price band.

alize @eF o |

Answer any four of the following questions

in about 150 words each : 5x4=20

oo [Pzl BlfSG! eER ST &R S@obl W

w7 fouese Ues il ¢ . ‘

(a) Give the meaning of bond and explain
its characteristics.

a7 9 FEiR o7l Si% 2 CWHEPIR I
-4 |
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(b) Write an explanatory note on [PO and
FPO.

12.{71.8 9% G, 7. 8 I @sigw 95| [rageie
ORI RGEIN

(c) Mention the benefit of credit-rating.

(FIOD ([DT FRAPTE S |

(d) ‘What is company analysis ? Who are
the user of company analysis ? Discuss
in brief.

@A RosEe B o ot Rrmwes
IR I 2 AT el 4|

(e) Explain different types of financial
future.

fafen eoe e ofime e <=

(f)- Distinguish between commodity
derivatives and financial derivatives.

IG5© TEL 12 OIS KSR b 729 Wew sfiefay
GEIl

(g) Explain different types of SIP.
fafen e/E9 SIP Rt S|

(h) What is the significance of moving
average ?

@ifee oEed @Y ¢ o
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Answer any four of the following questions
in about 600 words each : 10x4=40 -

UG ﬁmmmﬁﬁmmmeooﬁm
779 foese Tey &2 ¢

(@)

(b)

(c)

(@)

(e)

Explain the procedure of buying and
selling of securities in the stock market.

SR¥ G elfopie T-Riew AR 199
Sl

Explain the advantages and disadvantages
of mutual funds. 5+5=10

m%@mmWWQWW|

Discuss the evolution of derivative
market in India.

SIOIG TED AT TR S w4 |
What is an order? Explain different
types of orders used in stock market

for buying and selling of stocks with

examples. 2HE=1.0
b 2 S Toe G RN e
IR [fCH 2T TIND SR G =1 |

Mention various sources from which an
investor can collect financial
information about a company.

RN IS @2l D T [y
v TiRarg I~ Rifen TOPE T | ¢
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() What is meant by risk? Explain the
methods for valuat_ion of risk with

example. 2+8=10
| Rtz fercet &5 gt ? A5t Sy
L TE(OTR B e 3 \

(g) Mention the common steps to be
followed for investment in mutual fund
‘online’. _ Ay i _

SR SrRS Tl At Rt AR et
I AR MR oy 7|

(h) Differentiate between future and option
contracts. Also state their comparative.
advantages. S+5=10

AT St e o SRFR peq e
wmmmﬁemﬁmm%wmw
AR 101 51 |

(i)  Who are the market participants in the
commodity  futures exchange
environment and what goals do they
pursue ?

R c @ﬁmﬁﬁw A{e TEIg KR hEgEaE)

) Elabbrate the types of mutual funds
based on structure.

QRG] ‘ﬁff\\?ﬁi UFIRT OoTze GIERDE:
ﬁ@ﬁ%ﬁﬂjﬁ SIS 35 |

—_——
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